
CRITICAL! 
CHECK FOR ROD END BEARING ALIGNMENT
AFTER TIGHTENING THE ADJUSTING MECHANISM
ROD END TO BE PERPENDICULAR TO THE SPACERS

11

10

9

8

7

6

10

11

1

2
3

5

4

12

4

5

5

4

12

4

5

2
3

CRITICAL!!
ADDITIONAL SPACERS 
NOT REQUIRED FOR 
S13 / R32 SUBFRAMES

 40.50 

 40.50 

MIN LENGTH

 55.50 

 55.50 

OEM LENGTH

 70.50 

 70.50 

MAX LENGTH

ITEM NO. DESCRIPTION: QTY:
1 S-CHASSIS RLCA WELDED ARM 1
2 NUT 3/4-16 UNF 3B L/H 2
3 PCML12T-ES 2

4 SPACER PCML12T 12ID 45W HIGH 
MISALIGNMENT 4

5 SPACER 12X24X2.5 4
6 YPB12-T 1
7 INTERNAL RETAINING RING 1
8 SHANK SPACER STD LENGTH 1
9  SHANK S14/S15 FRONT STD LENGTH 1
10 DIN 433 M14X24X2.3 WASHER 2

11 LOCK NUT 2

12 PCMX12T ROD END COVER 2

REAR-LCAX PAGE: 1/2



CRITICAL! 
CHECK FOR ROD END BEARING ALIGNMENT
AFTER TIGHTENING THE ADJUSTING MECHANISM
ROD END TO BE PERPENDICULAR TO THE SPACERS

REAR-LCAX PAGE: 2/2

3 5 5

4 4 . 5

S 1 3  -  

4 9 . 5

S 1 4  -  

SPECIFIED DIMENSION MUST REMAIN ±0,5mm WHEN 
ROD END PCML12T-E WOUND OUT FROM 
45,5-75,5mm±1 (NO WASHERS)

6. ADD M14 WASHER

5. INSTALL UPRIGHT+SHANK ASSEMBLY
INTO A-ARM SPHERICAL BEARING HOLE

REAR UPRIGHT

1. INSERT SHAFT INTO UPRIGHT

4. ADD SHAFT SPACER ON SHAFT

3. TIGHTEN TO 90Nm (65 lbs-ft)

2. ADD M14 WASHER

7. TIGHTEN TO 90Nm (65 lbs/ft)

TIGHTEN TO 77-98Nm ( 57-72 lbs-ft )

8. MOUNT TO CHASSIS, BOTH SIDES AT THE SAME TIME

21 - MOUNT SWAYBAR END LINK, TIGHTEN TO 9-12Nm (6,5-8,7 lbs-ft)
ANTI-ROLL BAR HOLES CAN ALSO BE USED FOR CHASSIS TUNING

TIGHTEN TO 77-98Nm ( 57-72 lbs-ft )

FLAT SPACERS ONLY FOR S14/S15 GENERATION MODELS

M14x1.5 NYLOC NUT

14x28 WASHER

KNUCKLE/UPRIGHT

SHANK/BEARING SPACER

LOWER CONTROL ARM

CIRCLIP DIN 472 BORE 40

BEARING YPB12T

WASHER 14x28

M14x1.5 NYLOC NUT

CHECK NYLOC ENGAGEMENT
FOR SAFETY PURPOSES

CHECK NYLOC ENGAGEMENT
FOR SAFETY PURPOSES


	REAR-LCAX - Customer ASM PAGE 1
	9b1f5adefe3c0663bfec478e5d06d74c335290d70c75e108fc795aacfbd94034.pdf

